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ECOACORO9T-EcONOMICs (CC9) 

Answer any f+ve questions from the following: 

(a) What is meant by convergence? 

(b) What is meant by 'Warranted Rate of Growth' in Harrod's growth model? 

(c) What is meant by intertemporal choice? 

(d) What is inventory investment? 

(e) What is adaptive expectation? 
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(t) What is fixed accelerator? 

(g) What is meant by 'risk aversion' in portfolio decision? 

(h) What was the doctrine of 'Mercantilism ? 

Answer any four questions from the following: 

(a) Explain how investment decision is made using Tobin's q'. 

(b) How rational expectations implies that consumption follows a random walk? 
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(c) What are the features of endogenous growth models? 

(d) How a rise in rate of interest may influence intertemporal consumption decisions? 

(e) What is Policy-neffectiveness Proposition' of the New Classical School? 

() Explain how individual speculative demand for money function can be a 'step 
function'. 

Answer any two questions from the following: 

(a) Explain how money can be treated as an inventory to show that transaction 
demand for money has interest sensitivity. How the transaction balance is 
affected by a rise in rate of interest? 

(b) How does Permanent Income Hypothesis' explain the short-run variability and 
the long run constancy of average propensity to consume? In what way this 
hypothesis differs from Life Cycle Hypothesis? 

(c) How do the New Keynesian macro-economists explain that the wages and prices 
are not flexible in the short-run? 

(d) What do you mean by Golden Rule Level of capital accumulation in the Solow 
growth model? Describe the condition that describes the golden rule. 
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